
Pattern Classification Homework 2 Solutions 

1.  

(a). Yes, they are separable by a higher order polynomial discriminant functions. 

The 2nd order polynomial function would separate them. 

(b) Let f=w1x1
2+ w2x2

2+ w3x1x2+ w4x1 + w5x2+w6 

Then g(x)=wTx=[w1 w2 w3 w4 w5 w6][ x1
2
  x2

2  x1x2  x1 x2 1]T 

Convert and reflect prototypes according to this. 

Then  (1 1 1 1 1 1) 

 (1 1 -1 1 -1 1) 

 (16 25 20 4 5 1) 

 (-4 -4 -4 -2 -2 -1) 

 (0 -4 0 0 -2 -1) 

 (-4 -9 -6 -2 -3 -1) 

(c) Implement the perceptron algorithm. 



 

 

 

 

 

 

 

 

 



 

 

 

 



 

 

 

 

 

 

 

 


